.
S

u ROHEELEL L.

) 3
(1) = x— (2) —x6
773 5
=i 18
21 5
3 24 5‘ 53?‘
4) Zx— 5) = x — X
SRR ().6" 10
2 2
3 3
4 28
e RODEDERENEEL £,
3
(1) — (2) 2
5
( : ) ( :
3 2

3
2
(|)240/\0)§(i( 160 ) A

2 1
)mlt—moD —
7

2) (

) LHTIEELHENEFL L),

\\

(1F5&5 X5=25%)

2 2
3) 1—x2—
3 5

(1758 X3=15%)

9
10
S

(1F5-X2=10%)

DE X ()

H ff( A =

BEH ) i ( )

TR

n BOESH 150 m<, F Y AL 0ES(HED

2 _.
%‘50)5’(\%60

F ALK IIFMTT D,
(IF10& X 1=108)

2
150 x = = 100 %2 (. 100m )
a ROBEFEPLHELERDEL L), (IF10&X2=204)
3
(1) lﬂé*zcmwﬁﬁﬁéwﬁfrﬁ
3.3 9 o 9
T RAVERET: Zi ( 1—6cm )

1 .9 .
(2) #Eps g cm, A% —cm, & I M

2
5 cm? B H R D 1FEE

1 9 2 3 3
— X=X =— A — cni )
5 4 15 50 50

D

(N % B (%)

3
N

) oD EMERELEL LI, (1F105 X2=204)

(2) 80 # (%)

80

4
— X 60 =48 8060 =—
5 60

2
240 x = = 160
3
2 1 1
— X — = —
774 14

( 48 % ) (



